Cerenkov asum_C No cut ——

4 Mean 284
10 RMS  486.1

0 500 1000 1500 2000

with GC only cut (500,1000) —=C€3 __

“ntries 44141
Mean 1009
RMS  439.4

102

10

0 500 1000 1500 2000

with electron wide cut (600,700) —Ceré

“ntries 7524
Mean 928.1
RMS  340.3

10

0 500 1000 1500 2000

“ntries 172792

with GC & SC cut (600,900) —~cerl

Mean 1017

102 RMS 436.7

10

0 500 1000 1500 2000

with Electron narrow cut (640,700) - cerd

Mean 926.7
RMS  338.9

10

0 500 1000 1500 2000

with pion narrow cut (600,800) — C€r7

Z“ntries 20013

Mean 48.94
10° RMS  150.7

10°
10

1

0 500 1000 1500 2000

“ntries 43916

“ntries 7387

with .not.GC & SC cut (600,900) —C€r2____
~ntries 125111

“_.Ob Mean 51.53
RMS 159.1

10°
10?
10

1 . . h
0 500 1000 1500 2000

with electron wide cut (600,700) —C€5____
Zntries 7524

Mean 928.1
RMS  340.3

0

0 500 1000 1500 2000

with Pion Wide cut (600,800) ,|§4Mwaz§
= I

Mean 49.1

10° RMS 1511
10°
10
1

0 500 1000 1500 2000



